
)
3

2 2

⑦  30億を　　にした数 (

12

)

5

②

 120億を　　にした数 (

③  300兆を　　にした数 (

89

⑥

 2兆2000億を　　にした数 (

 9兆を　　にした数 (

)

9

⑤

 8900億を　　にした数 ( )

3

④ )

)

日にち：　　月　　日

名まえ

・ 次の数を書きましょう。

①  5兆を　　にした数 ( 5000億 )

⑥ 定着

6

(うすい字はなぞりましょう。)

10

1

10

1

10

1

10

1

10

1

10

1

10

1



3

 120億を　　にした数

 300兆を　　にした数

 9兆を　　にした数

 8900億を　　にした数

 2兆2000億を　　にした数

 30億を　　にした数

(

5

12

3

9

89

2 2

890億

2200億 )

⑦ ( 3億 )

)②

( 12億 )

③ ( 30兆 )

④ ( 9000億 )

⑤

⑥

(

日にち：　　月　　日

名まえ

・ 次の数を書きましょう。

①  5兆を　　にした数 ( 5000億 )

⑥ 定着 答え

6

(うすい字はなぞりましょう。)

10

1

10

1

10

1

10

1

10

1

10

1

10

1


